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[ = 10,4862 x6 - *50A| 2t 122 37,750
@62 8,043 x27H x50 A| 2122 144,877
0/2(Jls7= =&
8,078 «84H x50 A 2122 407,132
@8= (282 ,JI=82 =&
7,252 x25H x50 A| 2Hx 12 108,780
OIS THAMHAD2N X222
8,078 3 x4 A| 2H+6 582
Jl=2AH (D180 &t 130,293 126,933 3,360
Jl=3H (1= 130,293 126,933 3,360
201 Yot 66,453 63,093 3,360
01 AL 22| 64,080 60,720 3,360
(@ REI =" 36,360
CEEE] 27,720
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S I 0D
HE: SR (0|20 A D)

o oo

|
chel: D228 (O1=0llatnt)

_ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos

02 S 2L 2,373 2,373 0
o0332= & HMA 2,373

202 o1l 55,920 55,920 0

01 =2 U A b 55,920 55,920 0
OJI=g a0t 55,920

203 ¥ 2 =X 7,920 7,920 0

01 J|Z22H YR F Y| 3,300 3,300 0
OJE=EHIFBOIIEN) 3,300

04 PARALL2FAY| 4,620 4,620 0
ORN2IHRFZXHI(37Y) 385,000 x12& 4,620

WeES(H2SAYL) 1,108,000 730,841 377,159
2 108,000
Al 1,000,000

HEHAHR B (H2SA L) 1,108,000 730,841 377,159
= 108,000
Al 1,000,000

LESTR OHFAY OIXEHN 108,000 91,495 16,505
s 108,000

404 BIIAR=2HES 108,000 91,495 16,505
2 108,000

01 BIIUSHIANZHES 108,000 91,495 16,505
OLE4+T2 HBAY OIXEXN 108,000
£ 108,000

458 +X9 s 1,000,000 0 1,000,000

404 BIIAT2HES 1,000,000 0 1,000,000

01 RIIYSHI AN =2HES 1,000,000 0 1,000,000
ONSESNY i 1,000,000

HRES (I 0l a0 25,728,584 31,626,172 25,897,588

WEAHHXIE (D& 0l & D) 8,644,530 7,989,762 654,768

ANgze|ss 853 8,644,530 7,989,762 654,768

309 &3 8,611,530 7,936,762 674,768

02 BAL- STHHAHES 8,611,530 7,936,762 674,768
OANEZZSH BaNES 8,611,530

404 BIIAR=2NES 33,000 53,000 20,000

02 BAH- SHNEHE2S 33,000 53,000 20,000
OANEZ2ESE H=2dEa3 33,000

SIS (I8 0] A 17,084,054 23,636,410 6,552,356

NEDIPAE 16,584,054 23,136,410 6,552,356

311 X+ S0l XH 4k & 6,532,054 6,849,410 317,356
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S OI= 0l AL
FH: WSO a)

T—=o

chel: BEXE(O1=0arn) (ctel: &
S U (BH) - NRAY - B Aol e
Al -3 - FREHL D2 X 201 AHAHE 1,660,000
O&=F=HFAMY D AT HE 540,000
Q20043 Lz 10,500, 000,000 *4/100 420,000
Q2006 Lz 3,000, 000,000 *4/100 120,000
OF=TAZ SHEAZ AL 2,000,000,000 *4/100 80,000
SRS 204 352,000
020083 Lz 5,000,000, 000& *4/100 200,000
Q20108 Yaiz 1,800,000,000& *4/100 72,000
Q201148 L= 2,000,000, 000 *4/100 80,000
OoO=sdz MYz &F 196,000
Q20108 LAz 800,000,000& *4/100 32,000
Q20118 Y= 4,100,000, 000& *4/100 164,000
S22 2RI =2 H4 200,000
020108 LA= 2,500,000,000& *4/100 100,000
020118 L= 2,500,000, 000& *4/100 100,000
OsER3Ecz 2HEH N 120,000
Q20108 A= 1,800,000, 0002 *4/100 72,000
Q20113 Y=z 1,200,000,000& *4/100 48,000
oORHM=Z =HH 80,000
Q20108 Lz 1,000,000,000% *4/100 40,000
Q20114 L= 1,000,000,000& *4/100 40,000
ONMZZE~3FS AZe2 S2HE
2,300,000, 000& *4/100 92,000
SI2EI XL 20| KHAHE 1,278,304
ON=HHAMYIAZUE HE
10,600,000,0002 *4.5/100 477,000
Oz =21ldl(8.2~8.3) B &
1,980,000,000& *3.98/100 78,804
O&&ItW EH Y MotE
3,000,000,000& *4.5/100 135,000
sE02 SF3MNE(53)ALY
2,000,000,000& *4.5/100 90,000
Q2HH =HEE ML A
2,100,000,000& *4.5/100 94,500
OEEFRA ~ D5HIIEY T2
1,800,000,000& *4.5/100 81,000
odRz=aE 24 1,000,000,000& *4.5/100 45,000
o=2d I ZUHNRIE=Z
3,000,000, 000 *0.90/100 27,000
ON=Z2E~Eds A3l SSHL
2,700,000,000& *5.0/100 135,000
Osds U4~ ZH2 S2HE
2,300,000,000& *5.0/100 115,000
SAZEXNLZ0I Attt 3,395,450
O0IME A 10,500
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S OI= 0l AL
FH: WSO a)

T—=o

Sl BEXS(OI0) A (25l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
YEEEE 300,000, 000 %3.5/ 100 10,500
O=AHEZ HEAMH 750,700
Y ER I 860,000,0002 4.5/ 100 38,700
@200 XHYE('99 =)
400,000,000% 4.5/ 100 18,000
@200 X+ = (1%HE 1302))
5,200,000,0002 #4.5/100 234,000
@200 XHe) = (2% 2302)
9,200,000,0002%5.0/100 460,000
O MY SEHUX X4
8,000,000,0002 #4.5/100 360,000
OREAZAMYI|A2AT A
8,960,000,0002 #5/ 100 448,000
ORUBYHEA-IIADY T2IHA
5,000,000,0002 #5/ 100 250,000
ONYREHN 2 S
32,500,000, 0002 *4.85/100 1,576,250
06 JIEFXHI 201 K&t & 198,300 154,500 43,800
OBANE(ZAALE 5)
6,610,000,00021 %3/ 100 198,300
601 XA 4 10,052,000 16,287,000 6,235,000
R Al-2- PRNEWLISHAZ A4S 1,800,000 3,500,000 A1,700,000
OFFHBAMYI| A2 AN 1,800,000
20041 23 15,000,000, 0002 *1/10 1,500,000
@20061 23 3,000,000,00024*1/10 300,000
03 SSH2ZIIBXYZAILE 2,300,000 1,420,000 880,000
OSRARCHMRE T2
3,000,000,0002 *1/3 1,000,000
OS2 STAY  2,200,000,0008 1/10 220,000
OBAMYI| AAF A
10,800,000,0002 1/10 1,080,000
M4 ELYLAAZAZYE 5,267,000 10,827,000 5,540,000
OO0IN & Ha 300,000
® o7 TR 3,000,000,00021%1/10 300,000
OFHBBWHAY 3,987,000
Y ER I 3,870,000,0002%1/10 387,000
20001 el 36,000,000, 00021 #1/10 3,600,000
OTABE MUCHX X4
10,000,000,0002 *1/10 1,000,000
06 JIEIZHIAZH A E 665,000 540,000 125,000
OBAMAE(BALNE S) 665,000
MX &2 500,000 500,000 0
802 £H& 2| Et 500,000 500,000 0
01 RNREIUEI 350,000 350,000 0
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